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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

58/2/1

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No. 1 - 5 and 16 — 20 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 6 - 8 and 21 - 23 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 9 — 11 and 24 - 26 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 12 - 15 and 27 - 30 are long-answer questions carrying
6 marks each. Answers to them should normally not exceed 100 words
each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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In which form of market, is the demand of a firm perfectly elastic ?

T I A HS fIshal B @
(31) ot wfcrnfiraT

(d) UhIThRIcH JiaaIiar
(7)) umIHeR

(3)  TcuTfeR

There are only a few sellers under
(a)  Perfect competition

(b)  Monopolistic competition
(c) Monopoly

(d)  Oligopoly

AT 1 W sarsy |
State the law of demand.

e HHTa TR I Bt 7, A HA ST

(31) I B R
(9) =qdaH il 8
(@)  arferhan Bt @

(3) hWIcH Bl &

When marginal utility is zero, total utility is
(a)  zero

(b) minimum

(c) maximum

(d) negative
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5. T A& W Topan o =99 3ueh! hiHa § igad ot foen @ foada feem o shaw
T FEOIT & IFeh! AT 1
(37) SR B
(§) SclEER &
(|) oiqen SreER 8
(3)  3oTS AAMIER &l

The expenditure on a good would change in the opposite direction as the
price changes only when demand is

(a) elastic
(b) inelastic
(c) perfectly inelastic

(d)  unitary elastic

6. Teh 3CTEWT <h] HERIAT ¥ ATH AN 1 379 HEATSY | 3

Explain the meaning of opportunity cost with the help of an example.

7. IIGH HHISHT I qA-foeg hl AR Faa Fi il @ ? HHATSY | 3
e
3T e &I 309 Bidl 8 ? THSATST | 3

Why is a Production Possibility Curve concave to the origin ? Explain.

OR

Why does an economic problem arise ? Explain.

8. Y i3 diH % Id18T fSeh Il HiT ash el 31X flgwes gehdr 2 | 3

Give any three factors that can cause a rightward shift of demand curve.

9.  HHr TEATT U 1 1Y HAYISY | Uh o] i gl o forq wideernta st
W g FAI gl B 2 FHSEY | 4
T
Tofe 1@ 1 A guEEy | 390 fhe SR © ufteds &1 Fehdl § ? THEST | 4
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Explain the meaning of marginal rate of substitution. Why does 1t
diminish as one good is substituted for the other ? Explain.

OR

Explain the meaning of budget line. What can cause a change in it ?
Explain.

10. uiEdl 3uTdi % | § A IcUE % SHAER o (o =X I FqB | §=
T tEites H o femsy | 4

State the different phases in the behaviour of total product in the law of
variable proportions. Also, show the same in a diagram.

7z : FETferiaa I97 Fac giggia ahemaat & forg, Jv7 F&7 10 & T W& |

Note: The following question is for the Blind Candidates only, in lieu of
Q. No. 10.

TREdl TTATdl o o0 § HeT IcIg o FGER o i =Xl i FHeST | 4

Explain the different phases in the behaviour of total product in the law
of variable proportions.

11. g SfcRfiar i “somr i 3R STt S sl waaar fomar o Higaret i
ST T | 4

Explain the implications of the “freedom of entry and exit” feature of
perfect competition.

12. 9 g%g Al Fmd T 10 Uid 3 & TR T 5 Tid IR Bl 7, TR AT
AT QA B S @ | He! AT hl A HT G i | e shma W
SEehl AT HET 50 Tfaerd A g1 S 2 6
When the price of commodity A falls from ¥ 10 to ¥ 5 per unit, its

quantity demanded doubles. Calculate its elasticity of demand. At what
price will its quantity demanded fall by 50 percent ?

13. U HEATHS IS8V shl TETIAT & 3cdIGeh o Al ohl Il shl SATEAT ST |
drara amTa 3R waTd gEid (3mm) fafer st e il | 6

Explain the conditions of producer’s equilibrium with the help of a
numerical example. Use marginal cost and marginal revenue approach.
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frefefaa arforent =t @ il
3cTeH =T e gftedt A AFG | 3ftEa R
gh1gAT | AP T N = T N T
1 60 | ... 120 | ...
2 | s | 174 |
S 54 | |
4 54 | ... | 15
5 | . 57 345 | ...
Complete the following table :
Output | Marginal | Average Variable Total Average
Units Cost ¥ Cost ¥ Cost ¥ | Fixed Cost T
1 60 | ... 120 | ...
2 | | 174 | ..
3 | 54 | ... |
4 54 | .| 15
S 57 345 | ...

IAH hiFa HHT IR =IJan hiva dir o 1) IR Ffgared swems |

AT

garsy for FAfafigd o @& € o1 Tad | 3194 I o foiw srwr dife .

() 79 HqeH Simd SR HHd F Tfus Bt ], O IR A gfd enfiem
E
(i) X R Y a&qQ @ | Y i ShiHd &7 84 d X ! Hhiwa ¢ |

Explain the meaning and implications of maximum price ceiling and
minimum price ceiling.

OR

State whether the following statements are true or false. Give reasons
for your answer :

1) When equilibrium price is greater than market price there will be
excess supply in the market.
(ii)) X and Y are complementary goods. A fall in the price of Y will

result in a rise in the price of X.
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SECTION B

TREE 3 98 & @ o W 1

(31) Ao d% S 9 & T afovfeEt Eted § |

(&) anforfsees S e b T 0T A Tehd 2 |

(") aforres e 79t STHTE 19 ek o I8 W Tehd § |

(g) anfurfsues St grr steurafy & fore st fou wma 2 |

Repo rate is the rate at which

(a) commercial banks purchase government securities from the
central bank

(b)  commercial banks can take loans from the central bank
(c) commercial banks can keep their deposits with the central bank

(d)  short-term loans are given by commercial banks

ST |H Wi 99 gfd ¥ 11Uk Bt @, df i 1
(31) wed &

() wgd @

() uiafdd & 2id &

(3) UeA Ued B, fiR wiedt &

When aggregate demand is greater than aggregate supply, inventories
(a) fall

(b)  rise

(c) do not change

(d)  first fall, then rise

YT He T 379 FATsT | 1

Give the meaning of under-employment equilibrium.
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19.  Ysfia wftesrt @ Bt § 2 ' 1

What are capital receipts ?

20. SATYR ©TT 1 7 37 Frar 7 2 1
What is meant by trade deficit ?

21.  TgI o I3 I H sy | 3
YT
HgT <ht aReaTeT ST | $Hek Tehl i TR SA1ET | 3
State any three functions of money.
OR

Define money. List its components.

22, i I YdT8 H He I | Ideh ol Tsh ITELT <IoIT | 3

Distinguish between stocks and flows. Give an example of each.

23. RO §ad gL FEfaRed 1 ToRE witdE SR dsfia wiftae H - afied

T : 3
(i) ROl I FgA

(i) TSI & o ITH oh AW

(i) 0T

Giving reasons, classify the following into revenue receipts and capital
receipts :

) Recovery of loans
(i1)  Profits of public sector undertakings

(iii) Borrowings
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24, IS Sehi 1 GgT G 1 HATST | 4
AHYAT
Hed g S bl RO TR i C“omfaa sTavEehdredt H TR ek oty
AT | y

Explain money creation function of commercial banks.

OR

Explain the “varying reserve requirements” method of credit control by
the central bank.

25. AU foh forE YR GEhHl ooi¢ AAITEdT H oAl o Y9Tel 3€ed |
TN B Hehal R | 4

Explain how can government budget be useful in influencing allocation
of resources in an economy.

26. UH eyl Gqed H 7 | FfaRea et & fraw =@ &1 afehed
HIT
(i) €T 3THE 99 = 0-9
(i) A ITHA = 200
(iii) TR T &R = 10000

An economy is in equilibrium. From the following data calculate
investment expenditure :

1) Marginal propensity to consume = 0-9
(i1)  Autonomous consumption = 200
(iii) Level of income = 10000

27. T (Tieht) fafma g stk wefya fordt (Fafa sremh) fafme @ & =
I <l AT iU | 6

AT

T HET o YodsTd 3R STaea % o4 3QTE0 qohl R hl AT HIVT | 6
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28. oq¥ faftr grn UsdiT 3T T 3Tkl hid THT T FIEYTHAT SaHl =rEy ?
BEEIE
What precautions should be taken while estimating national income by
expenditure method ? Explain.
29, fortlt arelegaen d A9 1,100 sdr & 3R 3H URUMHETEY 3T 5,500 et
3 | Afe Hwia s=a ygfa 25 gfaea g, @ o 7 forat afg gt 2
In an economy, investment increased by 1,100 and as a result of it
income increased by 5,500. Had the marginal propensity to save been
25 percent, what would have been the increase in income ?
30. (%) U M, a1 (@) Fraa Tsdia s 31 &1 qitehed Sifa
(T #sl 7)
(i) ¥ 1,000
(i) Tt S Wi o 15,000
GHESIEIN 200
(iv) &I 400
(v)  HHETRAl 1 qTiEee 7,000
(vi) fagett =t frae wre o 100
(vil) 3T YSi T ITHAT 400
(viii) et frata (-) 200
(ix) T stocag 800
(x) 9 fova =i frae =] T 40
(xi) Teptrm 500
Dg\%zllloaded From : http: //cbsepor%%l .com Courtesy :

Explain the distinction between the flexible exchange rate and the

managed floating exchange rate.

OR

Explain by giving examples, the distinction between depreciation and

devaluation of domestic currency.
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Calculate (a) national income, and (b) net national disposable

income :

(1) Profit

(i1)  Mixed income of self-employed
(iii)  Dividends

(iv) Interest

(v)  Compensation of employees
(vi)  Net factor income to abroad
(vii) Consumption of fixed capital
(viii) Net exports

(ix) Net indirect taxes

(%) Net current transfers to rest of the world

(xi) Rent
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(¥ in crores)

1,000
15,000
200
400
7,000
100
400
(=) 200
800

40

500
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